
1) 9/12 x 23/8

Answer: ____________

2) 3210/13 x 202/3

Answer: ____________

3) Find the percentage change from 235 
to 493.5

Answer: ____________

4) Share 75 in the ratio 15:60

Answer: ____________

5) (-456) ÷ (-38)

Answer: ____________

6) 17/19 x 10/19

Answer: ____________

7) Find the percentage change from 114 
to 171

Answer: ____________

8) 21/16 x 28/14

Answer: ____________

9) Find the mode of the following set of data:

101, 101, 163, 163, 163, 163, 80, 
80, 38, 38, 184, 184, 184, 51, 51, 
114, 114, 114, 114, 114

Answer: ____________

10) 1/2 of 34

Answer: ____________

11) Find the percentage change from 114 
to 342

Answer: ____________

12) A number was shared in the ratio 
9:75. The smaller share was 57. 
What was the total amount shared?

Answer: ____________

13) (-6707) - (-4830)

Answer: ____________

14) 335/8 ÷ 817/18

Answer: ____________

15) 3655 + 3467

Answer: ____________
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16) (5 x 32) - 3 ÷ 17

Answer: ____________

17) Increase 220 by 1/55

Answer: ____________

18) 263/15 x 247/8

Answer: ____________

19) 8892 - 8461

Answer: ____________

20) Round 18.074288479 to 8 decimal 
places.

Answer: ____________

21) 9600 ÷ 100

Answer: ____________

22) Find the percentage change from 210 
to 111.3

Answer: ____________

23) Round 27.102291992015838 to 13 
significant figures.

Answer: ____________

24) Find the median of the following set of data:

5, 10, 40, 24, 2, 7, 5, 17, 25, 38, 38, 
5, 9, 33, 30, 37, 11, 36, 18, 31

Answer: ____________

25) 2346 ÷ 69

Answer: ____________

26) 17/14 + 35/2

Answer: ____________

27) 6/47 of 94

Answer: ____________

28) 39 x 100

Answer: ____________

29) Find the mean of the following set of data:

11, 0.6, 14, 0.9

Answer: ____________

30) 2   14/17 - 4   10/11

Answer: ____________
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31) An amount was increased by 4% to 
$86.77. Find the original amount.

Answer: ____________

32) 1271 + 4909

Answer: ____________

33) Round 14.237190718162250 to 6 
significant figures.

Answer: ____________

34) Find the percentage change from 250 
to 445

Answer: ____________

35) (-3384) ÷ 72

Answer: ____________

36) Round 29.44 to the nearest 10000

Answer: ____________

37) Simplify 53:81

Answer: ____________

38) Find the median of the following set of data:

37, 40, 4, 23, 37, 10, 23, 13, 16, 17, 
27, 11, 33, 31, 9, 19, 32, 26, 32, 36

Answer: ____________

39) 38/19 + 10/12

Answer: ____________

40) 48 x 100

Answer: ____________

41) A number was shared in the ratio 
36:54. The larger share was 36. 
What was the smaller amount?

Answer: ____________

42) 3 x 12 x 15 ÷ 82

Answer: ____________

43) 7367 - 5122

Answer: ____________

44) Find the percentage change from 240 
to 156

Answer: ____________

45) 312/20 x 156/10

Answer: ____________
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46) An amount was decreased by 4.2% to 
$208.00. Find the original amount.

Answer: ____________

47) Find the percentage change from 370 
to 473.6

Answer: ____________

48) Find the mode of the following set of data:

62, 62, 122, 122, 122, 122, 122, 
144, 144, 144, 144, 115, 115, 115, 
115, 115

Answer: ____________

49) 9045 + 8555

Answer: ____________

50) (-2107) ÷ 49

Answer: ____________

51) 20/4 x 8/10

Answer: ____________

52) Find the mode of the following set of data:

191, 191, 56, 56, 56, 56, 116, 116, 
116, 116, 44, 44, 44

Answer: ____________

53) 65000 ÷ 1000

Answer: ____________

54) (-340) ÷ 34

Answer: ____________

55) Find the mean of the following set of data:

52, 46, 0.5, 39, 80

Answer: ____________

56) 40   9/20 - 37   6/8

Answer: ____________

57) 92/8 ÷ 227/18

Answer: ____________

58) 1/39 of 195

Answer: ____________

59) 19 x (-40)

Answer: ____________

60) 16 x (-74)

Answer: ____________
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61) Find the mode of the following set of data:

121, 121, 121, 121, 121, 25, 25, 25, 
25, 25, 192, 192, 155, 155, 155, 
155, 155

Answer: ____________

62) Decrease 284 by 3/142

Answer: ____________

63) 36/
13 ÷ 12

/19

Answer: ____________

64) Find the range of the following set of data:

11, 0, 9, -0.3, 20, 16, 11, 15

Answer: ____________

65) A number was shared in the ratio 
1:76. The smaller share was 22. 
What was the larger amount?

Answer: ____________

66) Find the median of the following set of data:

11, 7, 28, 7, 36, 6, 4, 25, 16, 17, 29, 
9, 13, 35, 6, 20, 13, 28, 23, 18

Answer: ____________

67) 5105 + (-5702)

Answer: ____________

68) Find the mean of the following set of data:

0.1, 0.2, 0.4, 1, 0.5, 0.7

Answer: ____________

69) 297/18 ÷ 361/16

Answer: ____________

70) 22/10 x 24/14

Answer: ____________

71) 206/17 x 161/2

Answer: ____________

72) 361/19 x 211/2

Answer: ____________

73) Round 4.16217 to 2 decimal places.

Answer: ____________

74) Find the mode of the following set of data:

186, 186, 142, 142, 155, 155, 193, 
193, 193, 193, 200, 200, 200, 200

Answer: ____________

75) Round 6.8807449 to the nearest 100

Answer: ____________
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76) 9303 - 9123

Answer: ____________

77) (-4672) - (-4055)

Answer: ____________

78) 163/5 x 2113/20

Answer: ____________

79) 610 ÷ 10

Answer: ____________

80) Find the percentage change from 100 
to 258

Answer: ____________

81) 10/
8 ÷ 23

/17

Answer: ____________

82) (-3003) ÷ 33

Answer: ____________

83) 30/12 + 27/11

Answer: ____________

84) 62 x 16 + 2 ÷ 13

Answer: ____________

85) 75000 ÷ 1000

Answer: ____________

86) Round 3.9665267 to 1 significant 
figures.

Answer: ____________

87) Round 9.4923931 to 1 decimal places.

Answer: ____________

88) Find the mean of the following set of data:

0.1, 99, 27, 0.2, 4, 41, 47, 4

Answer: ____________

89) 43 x 10

Answer: ____________

90) (-4140) ÷ 45

Answer: ____________
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91) 92% of 279

Answer: ____________

92) 382/14 x 234/10

Answer: ____________

93) Find the percentage change from 100 
to 194

Answer: ____________

94) Find the median of the following set of data:

24, 31, 4, 8, 14, 25, 6, 39, 27, 4, 39, 
12, 13, 33, 38, 8, 32, 39, 19, 13

Answer: ____________

95) 39/16 x 33/14

Answer: ____________

96) Increase 254 by 4/127

Answer: ____________

97) A number was shared in the ratio 
61:22. The smaller share was 88. 
What was the total amount shared?

Answer: ____________

98) (16 x 5) + (13 - 6)

Answer: ____________

99) (-5248) ÷ 82

Answer: ____________

100) (-90) x 40

Answer: ____________

Total: ___ / 100
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Answers:

1) 25/32 2) 6773/13 3) 110% 4) 1 : 74 5) 12 6) 170/361 7) 50%

8) 25/8 9) 114 10) 17 11) 200% 12) 532 13) -1877 14) 3489/644

15) 7122 16) 17) 224 18) 65129/40 19) 431 20) 18.07428848 21) 96

22) -47% 23) 27.10229199202 24) 38 25) 34 26) 185/7 27) 12 28) 3900

29) 6.63 30) 416/187 31) $83.43 32) 6180 33) 14.2372 34) 78% 35) -47

36) 29.44 37) 53 : 81 38) 22 39) 25/6 40) 4800 41) 24 42)

43) 2245 44) -35% 45) 4854/25 46) $199.26 47) 28% 48) 115 49) 17600

50) -43 51) 4 52) 116 53) 65 54) -10 55) 43.5 56) 27/10

57) 333/806 58) 5 59) 60) 61) 155 62) 278 63) 45/13

64) 20.3 65) 1672 66) 23 67) -597 68) 0.48 69) 4232/5193 70) 327/35

71) 33514/17 72) 7755/38 73) 4.16 74) 200 75) 6.88 76) 180 77) -617

78) 35939/100 79) 61 80) 158% 81) 85/92 82) -91 83) 421/22 84)

85) 75 86) 4 87) 9.5 88) 27.79 89) 430 90) -92 91) 256.68

92) 89219/35 93) 94% 94) 21.5 95) 5167/224 96) 262 97) 332 98)

99) -64 100)
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